
	
 

© Westermann Gruppe

Lösungen:  
Rechnen mit Gewichten (1)

1. 
a)	 250  g < 2,5     kg  	 b)  0,25 kg > 25 g
	 18,5 g < 0,185 kg  	   8,5   kg < 85 000 g 
	 7 000  g = 7  kg   	 70  kg  >    7 000 g 

2.
a) 0,250 kg	 b) 2,225 kg 	 c) 0,025 kg
d) 25 kg	 e) 740 kg	 f) 4,448 kg
g) 0,847 kg	 h) 78,407 kg

3. 
a) 37 500 g	 b) 1 957 000 g 	 c) 400 242 g
d) 59 800 g	 e)       67 800 g	 f) 2 785 000g
g) 600 342 g		  h) 3 976 000 g

4.
R:	 215 • 27
	 4300
	 1505 
	
	  5805
	 5 805 g = 5,805 kg

A:	 Conny trägt 5,805 kg.

5. 
Müsli: 
R: 	2 500 g + 375 g + 375 g = 3 250 g 

	 3250 g : 25 = 130 g 
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Milch: 
5000 ml : 25 = 200 ml 

Erdbeeren:
2 500 g : 25 = 100 g

A: 	Jedes Kind (und auch die Lehrerin) darf 
	 130 g Müsli, 100 g Erdbeeren und 200 ml 
	 Milch nehmen.  


